The plane clipped another peak. The left wing broke
off. The plane’s body soared through the air. It crashed at
18,000 feet (5,486 m). It crashed in the Andes. The plane
crashed into the Glacier of Tears. This is between Chile

and Argentina. Glaciers are slow-moving bodies of ice.

The plane hit the ground. It slid down a steep

mountain. It moved quickly. It slid into a valley. It
slowed down. It slammed into a snowbank. People were
thrown forward. They crashed into each other. Many
people broke their legs.

This happened on Friday, October 13, 1972.




